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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

7.0

6.8 1

6.6 -

6.4 -

6.2

6.0 -

Warning: col

[’ PHC' ,

"FVIPH' ]

is missing

10

20

30

40

50

60

70




Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-13

BYiE) | GEBATIK () | EBE (EA/#) | EREE(B/R) | XS ERE

08:05 306 150.0 2.888 || FhHAe08:05 KEIFEFE (kA{EEEE)
08:55 306 150.0 2.888 || Fi#A@08:55 KRENFZF (KRAEZERHE)
09:50 306 150.0 2.888 [dhil§| FHEHA@09:50 kENFEF (RAfREE)
10:40 306 150.0 2.888 [dhig| FhHA@10:40 kEIEF CKAHEEE)
11:25 306 150.0 2.888 || FmHRe11:25 KEFEHF (GRABEREE)
12:10 306 150.0 2.888 || FhHA@12:10 KEFEF (KBFERSE)
12:55 306 150.0 2.888 [dhig| FaHA@12:55 KEIEFE (KAEEE)
13:40 306 150.0 2.888 || FMHA@13:40 KENFZEF (RA{EEER)
14:25 306 150.0 2.888 || TmHA@14:25 KENFEF (RAA{EEER)
15:10 306 150.0 2.888 |/\FU| FhHA@15:10 REIEF (RAERE
15:55 306 150.0 2.888 |/©f| FmHP@15:55 KEFERF (RAEBERESE)
23t+]3366.0 (11)%) 1650.0 3233 KEC: 2200, PH: 5.6

WEE S RiHKRPH 5.6, HTHRAENAZIFESEREPH, i5FohiAE
H#ERECE (1703.0 vs 5743.0) id 5
RN S R REC 2200. 0




ET (ml/hr/plant)

P3-13_0, Day=76 (2025-06-15)
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P3-13

ByiE) | GEBEATE (FD) | ERE (BHA/) | EBREE(B/R) | XS EFE

08:05 283 150.0 2. 888 FE| 1BRi%@08:05 Bz (kAB{EREE)
09:05 283 150.0 2.888 FA| {Ri&@09:05 Bzl (kA{EEEE)
10:05 283 150.0 2.888 FA| {RRi&@10:05 Bz (RAEEE)
11:05 283 150.0 2.888 PR 1Bi&e11:05 Bzh (RAERSE)
12:05 283 150.0 2.888 FH| 1Bi&e12:05 Bah (RAEREE)
13:05 283 150.0 2.888 FH| 1Ri%@13:05 Bzh (KAERSE)
2411 1698.0 (6:%) 900. 0 EUGHKEC: 2200, PH: 5.6

TERRHLER 2 STEIEARTF (184.0 :

ZRIAEBRIERE139.0 ml.

FERECE (1727.0 vs 5870.0) 145
FREVEIN S K IKEC 2200. 0

139.0), FIEEHT—@E XA HS
REZ NS RBERPH 5.6, B THEARHAZIFEZhFIEPH, 15F A%




P3-13_0, Day=75 (2025-06-14)
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P3-13

BYiE) | GEBERTIC (RD) | EBE (BAH/FK) | BREE (BF/R) | X8 EFRE

06:15 283 150.0 2.888 [Z=| 1Ri&e06:15 Bzh (FEEESE)
07:15 283 150.0 2.888 |Z=| {Ri&e07:15 Bz (KREAEZHE)
08:15 283 150.0 2.888 |Z=| {Ri&e08:15 Bzl (KREAEHSE)
09:15 283 150.0 2.888 |Z=| {Ri&e09:15 Bz (KEERHSE)
10:20 283 150.0 2.888 FA| 1Ri%@10:20 B3 (RAERE)
12:40 283 150.0 2.888 FH| 1Ri%@12:40 B3 (kBERSE)
13:30 283 150.0 2.888 FA| {Ri&@13:30 Bzl CGkAEEE)
14:15 283 150.0 2.888 FA| 1BRi%e14:15 Bz (kAFERSE)
15:00 283 150.0 2.888 FA| 1Ri&@15:00 B3 (RAHEREE)
Bit]2547.0 (9%) 1350.0 3EUHIKEC: 2200, PH: 5.6

TERRHLER 2 STEELRTF (184.0 :

ZRIAEBRIERE142.0 ml.

[EI/KEC 6430.0 K&, EiXMIRECAE K ITER
#HERECE (1760.0 vs 6430.0) i35
FREVEIN S K KEC 2200. 0

142.0), AlEEHT—R % XA HS
REGZ NS RBEPH 5.6, B THEARHAZIFEZhFIEPH, 15F A%




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=74 (2025-06-13)

150 A

100 A
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. . 1656
VI,V9¢£BV,ET VI, V0, FVI, EVO, FRV, ad jFRV, ET

1100 1100 118§
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60
Warning: lcol [FVI',| "FVO’'] missing

v
FRV

[ O A St o, At o o

Warning: lcol ["WC1',  "WC2'] missing

optEC0=3000. 0, setECB=2200

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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RH_obs-rning: col ['RHo_obs'] is missing
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cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=410, FV0=0 m=460, FV0=0 m=545, FV0=0
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—— ME | . .| - ME
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36.5 37.0 A
0. 2 a 37 62 T
| Warning: col ['M_E'] missing 36. 8
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T T T O 0 T T T T T T T T T T T T
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P3-13

ByiE) | GEBEATE (FD) | ERE (BHA/) | EBREE(B/R) | XS EFE

07:05 283 150.0 2. 888 FE| 1BRi%@07:05 Bz (kBEREE)
08:05 283 150.0 2.888 FA| {RRi&@08:05 Bz (kA{EEEE)
12:00 283 150.0 2.888 | KF| f{Rige12:00 Bzl (KREAERSE)
13:25 283 150.0 2. 888 FE| 1Ri%@13:25 Bz (kAERSE)
14:10 283 150.0 2.888 FA| {Ri&e14:10 Bz CGRAEEEE)
14:55 283 150.0 2.888 FH| 1Ri%@14:55 Bzh (RAERRSE)
2411 1698.0 (6:%) 900. 0 EUGHKEC: 2200, PH: 5.6

TERRHLER 2 STEELRTF (184.0 :

ZRIAEBRIERE142.0 ml.

[ REC 6867.0 K&, il FKECRE & IMIKER
1Bl RECE (1803.0 vs 6867.0) 33/
REVE IS RIFEREC 2200. 0

142.0), AlEEHT—R % XA HS
REGZ NS RBEPH 5.6, B THEARHAZIFEZhFIEPH, 15F A%
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P3-13_0, Day=73 (2025-06-12)
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Warning: col ['M_E'] missing
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Warning: col "MW ] missing
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m=925, FV0=0
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P3-13

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS R

07:40 283 150.0 2. 888 RS {Ri&e07:40 Bal (REAEEE)
08:10 283 150.0 2.888 RS {Ri&e08:10 Bzl (REAEHEE)
08:55 283 150.0 2. 888 RS {Ri&e08:55 Bz (REAERESE)
09:30 283 150.0 2.888 RS {Ri%e09:30 Bal (REEEE)
10:00 283 150.0 2.888 BE| Ri%@10:00 Bzl (REAEHE)
10:30 283 150.0 2. 888 e {Ri8@10:30 Bz (REAERSE)
11:00 283 150.0 2.888 el Rige11:00 Ba) (REEESE)
11:30 283 150.0 2.888 el Rige11:30 Bz (REAEHSE)
12:05 283 150.0 2. 888 B Rige12:05 Bz (REAERE)
12:45 283 150.0 2.888 Bl Rige12:45 Ba (REAEESE)
13:15 283 150.0 2.888 | Ri%e13:15 Bz (REAERESE)
13:50 283 150.0 2.888 BS| 1Ri%e13:50 B3 (GREMEESE)
14:25 283 150.0 2.888 sl Rige14:25 Bal (REEESE)
15:05 283 150.0 2.888 B 1Rige15:05 Bah (REEESE)
15:45 283 150.0 2.888 RS {BRi&e15:45 B3h (REERSE)
16:35 283 150.0 2. 888 S| 1Ri%e16:35 B (RF{EREE)
Bit] 4528.0 (16%%) 2400.0 3EUHIKEC: 2200, PH: 5.6

FERRNEREEFEEART (184.0 : 139.0), AgEHF—RE XAHHS
ZRIAEBRIERE139.0 ml.

FREVEIN S RHIBPH 5.6, B THEARHAZIFESIFEPH, 15F A%
[E;KEC 7487.0 K5, ZEiBIKECAEZ hiEE R

P EIRECE (1847.0 vs 7487.0) H 5

FRBVFE NS KIFREC 2200.0



ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=72 (2025-06-11)

T e g g e S S B S g

- : 3128
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100 42100 913 3 ?58
- 2000
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184 Warning: lcol [FVI',| "FVO’'] missing 60

( o v
— 50 - FRV

FRV (ml plant-1)

Warning: lcol ["WC1',  "WC2'] missing

optEC0=3000. 0, setECB=2200

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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cumET (ml/plant)
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54.0 - MW
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